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GKBERBEBESESE (ZE_F+H)
28 £ il PR ST S L FERE
= (B/E)

B i [ 6-10 7.2-79 7.6 =
FHEE (mg)) 100 <30 - 30 30 =
Y4 E (mg/) 10 36-74 5.5 s
WiBE Y48 & (mg/) 2,000 180 - 1178 573 1t
WALPI4EE (mg/) 10 <0.5 <0.5 =
FEVHEE (mg/) 0.1 <0.04 <0.04 =
ROTERE Y E  (me/) 100 <15 <15 e
s (mg/) 20 <10 <10 ys
M&EE  (me/l) 0.5 <0.3-0.36 0.32 =2
Ve EEE (me/l) 1 <0.6 <0.6 =
FHEUEMER] (mg/) 15 <7 <7 s
EEFEERE (mg/)) 2, 000 148 - 180 166 =
Ak E (me/l) 200 31-69 47 s
MmIE (0 43 28 - 30 29 y
T F ) E (mgl) # - - - -
EESRE

i (mg/l) 2 <0.4 <0.4 yiss
1 (mg/l) 5 <1 <1 Ak
% (mg/) 0.1 <0.1 <0.1 =
& (mg/l) 1 <0.3 <0.3 =
i (mg/l) 2 <0.5-0.6 0.53 =
$ri (mg/l) ) <1 <1 =
B (mg/l) 5 <0.2-0.39 0.26 y s
7K (mg/l) 0.05 <0.05 <0.05 =
#7 (mg/l) 2 <1 <1 yss
£ (mg/l) 2 <0.4 <0.4 =
#  (mg/l) 5 <1 <1 p=s
¥ (mg/) 2 <1 <1 p=s
A e B E#H (mg/) 10 <7.0-71 7.0 =
B (mg/) 5 <1 <1 p=s
# (mg/) 10 <2 <2 =




2 12 il BR &R 8 FERE
J& B/&)

B EE
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR ZBE (mg/) 0.01 <0.01 <0.01 s
FEZHELLEY
KTE (mg/) 0.1 <0.06 <0.06 =
EEMEIEY -
1,1,1- =& Z %5 (mg/) 0.05 <0.025 <0.025 s
ZRME -
% S5 R HE & (me/) 0.003 <0.003 <0.003 =
BB #
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EE RS EERBESE (ZE__4F+H)
28 P2 11l IR & GEERO EIHE | FERE
(HEm ) © (B/E)

(B =+oreEpsgE @
f¥ofr (kg/0.5h) 0.58 0.00 — 0.05 0.01 =
—S/EW (kg/0.5h) 3.86 0.01-1.35 0.11 =
B % (kg/0.5h) 1.16 0.00-0.31 0.03 =
#ALE (ke/0.5h) 0.08 0.00 —0.00 0.00 =
EAE=R(ek7)
(L= &1t & 5F &) 7.71 0.42 - 3.02 1.50 =
(kg/0.5h)
A AR (ke/0.5h) 0.39 0.00 —0.09 0.00 =
— & B (kg/0.5h) 1.93 0.00-1.01 0.07 1k
(Z) Higfg @
oL (kg/day) 9.25 0.02 -0.87 0.24 =
“E AL (kg/day) 46.27 1.71-14.03 5.06 pss
Ei % (ke/day) 9.25 0.71-2.86 1.68 =
#ALE (ke/day) 0.93 0.00 —0.00 0.00 =
EA=R(eE7)
(L = & 1b & 5F &) 185.06 56.18 — 88.60 71.84 yass
(kg/day)
A bk (kg/day) 9.25 0.01-0.23 0.10 =
— &L b (kg/day) 46.27 0.98 — 6.65 2.99 yiss
(R) FHAit

28 P2 6 PR FE S FaRE

(FEme %) ® (B/f)

= T AR o
i)j;%%g@ﬁa:) (key | 098 o4 =
mEAALEY
(MHELsE & 25 5H) 0.73 <0.003 =
(kg/h)
% & (DA % 51 &) (ke/h) 1.45 0.224 =
4 E (LB TR (ke/h) 0.21 < 0.006 pss
R GREALE (kg/h) 0.19 <0.003 s




28 22 I PR GEER FalRE
HEmr %) ® (B/E&)

FEsBE—HY:

EaeEEGE—HMNEE =

(ke/h) 0.0019 < 0.0003 yiea
FESBEZEH .

i (kg/h) 0.0023 < 0.0001 yoea

ErelEE B INEE =

(ke/h) 0.019 < 0.0020 yiea

7K (kg/h) 0.0019 < 0.0001 =

TIEFE (ng/h) 2,891 101 pss
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ERRERZERBVBBRESE (ZE22F1TH)

*®=

28 P2 1l IR & &R SEESE FEaRE
(B/E)

£—#a
& i 1 (K) (%{&8@@ 12.3-125 12.4 e
ERETE D) | | 6092 79 7
R
#% (ppm) 0.5 <0.5 <0.5 =
7k (ppm) 0.1 <0.02 — 0.049 0.021 =
$E 48 & (ppm) 10 <05-1.6 0.5 yss
#i  (ppm) <0.5-3.9 0.9
$8 (ppm) <0.5 <0.5
$ (ppm) <1-1.6 1.0
#£  (ppm) <0.5-1.3 0.5
G IS I = < =
B (ppm) 25 <25-509 2.9 =
# (ppm) 20 <1 <1 =
ALY (ppm) 10 <5 <5 =
A E (ppm) 10 <2 <2 =
ALY (ppm) 5 <5 <5 pss
E_EHa
HEEMEABRY S =
B (ppm) 5,000 <15 <15 =
AN ZEHEE .
(ppm) 10 <5 <5 =
(;%;pjn[:) L s ) © © =
% &WAE (ppm) 1 <1 <1 =
TCDD (ITEF %) . < < =

(ppb)




